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Shall we say that it is not — %9 P ®R1AWTY MM NP M K272 KA
worth the amount of money and they argue in Shmuel

OVERVIEW

The X wanted to say that the np1onn between ¥ (who maintains 728 11ownn 728
Pnvn) and X" (who rules 1"nwn 910" vaw©) is in a case where the 11w is worth
less than the loan amount and they argue whether we agree with PXmw that even by
a 1own which is worth less than the loan, the rule is 1My» 1728 110Wn7 72K (the view
of ¥"9), or not (X"7). There is a dispute between >"w7 and Nd0IN how to understand
this proposed explanation.

- 29591 9mY NNYY 9195 »N MHWTa Yax ovpa wre
»'"w explained that at this point the X 3 assumed that if the 11own is worth the

amount of the loan then according to everyone the m>» is a w'"'w -
- 0931 09990 W) (N NN MNT X, OV 2,30 97 maw) 029970 NIV NI

And in the end of 2319777 ny1aw 275 there are texts which read -
= TYIUN 2299 RNYV INN T NPV YT IN 9T NN

‘How is this case (where ¥"71 X"7 argue); if the 1own» is worth the amount of the
loan, what is the reason of X''S, who maintains that »my» 9" vaw»? (He should be

considered a w"w) -
= NIYY D15 11N MYAT DIVIPN WIS ‘ynwun 999D INIWTAY MY N7 NON

Rather we must say that the 11own is not worth the loan amount, and they argue

in ®X1Mw’ (as the Xna states here); this seems to be like 77''s, that w72 all agree
(even RX"7) that he is a w"w.

nooIN asks:
- ATIHPYN 299 N9T PNHINN “IIND ININ 19 ONT AUP)

And there is a difficulty; for if indeed this is so (that *777 "7w72 all agree that he is
a v"w), why does the X123 state that our 7w (which maintains 1wWnR 9v 917

v"w) is not like X''9 (who rules that he is like a 1"w) -
- NAYY 59199 SN SHT NV HYTA NPIY

' R97 ",

"1 explains that "2 he took the X3213% 119w (as a collection for payment), therefore he is a w"w.

3 This is also the way the text reads in our N3 in MY 'on.

* The X773 in D177 NYAW 779 clearly writes (according to the 0190 w°) that if it is *17 " w72 then X"77 v'"n that he is
not considered a w"w; indicating that all agree that >7 "w72 he is a @"w.

> The xn3 concludes this on this 71y right before we attempt to say »399p PXWwT2.
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Let us establish the 71wn in a case where the 11DW7 is 317 R W, so the mwn

will be according to everyone (even x"), since *"w1 maintains that > *Ww72 all agree that
he is like a w"w?!

mMooIN anticipates a possible resolution to his question:
- RYDDIN 29Y 13597 YU 299 NYT PIINDT NPT NN NI 99

And if you will say; this which the X n3 stated that our 7w is not like R''9;
that is according to the conclusion of our X310 which stated -

- sqvv 299 1N 7‘119’\’) NYWTa MHaT
That v"71 X"1 argue (even) in a case where the 112w» is 5117 7w "2 and they
argue regarding the ruling of noY 29 -

mooIN rejects this solution:
- 9w Xaponn 299 11999 Tndnna NNaYnT Nah XA

Because according to 7739 (who disagrees with 7101 27 and maintains that a MW
77X is like a n'"w), that the 57257 is like his ruling, ¥"1 X" argue, according to
the R1pon, in ®R1AW (whether we agree (v"1) or disagree (") with 2xmw) -

= (3571 NNNN M1 oY 8,03 97) DIYD /3 7992 NPYWIN99d
As I explained previously in the second ?95. The question remains let us establish the
mwn where it is "W, and the 71wn will be according to everyone (including X"9)

MB0IN suggests an answer on *"WI1:
= N1IDY 99199) MHWTA PNNINMD dDPIND S8 NIT 91297 W 119)

However it is possible to say; that the X713 could not have established our mwn»
in a case of "3 and it should be like everyone (including x") -
- N2YPY 529 MTWIN 239 5Y AN 939 PIYNIY NI2D PRT
For then (if it is 17 My°w ") it is not logical that >''1 should argue on ¥''71 R''9 -
= 999N MY NYTA 523NN INT NN
Rather we must conclude that our 73w is certainly discussing a case where it is

® See later on this 7y.

7 According to this 'X1p0n', in a case where "1 MW w "W there will still be a npYonn and X" will maintain that he is a
n"w (not like 701" 27), so the 71wn cannot be according to &"A.

¥ nov 21 maintains that every 772X 9 is considered a w"w (see 12w MWD 7"7 >"w1 who writes because he is doing
a mxn). This will apply to a 11own as well since he is required to guard it.

% If the 719971 is like 7127, it is unlikely that ¥"1 X" argue in 701 27 (and ¥ agrees with fo1 27).

' Therefore since they argue in X, it turns out according to >"wAo that if it is *11 My*w ", all agree that he is a v"w,
so the mwn can be according to X" in a case of "1 Myw "w; why does the X3 conclude that 815 827 Pnvann?!

"'y maintains in our 71wn that n"w mun ¥, This is not logical if ¥" X" both agree that "Ww72 he is a w"w.
Additionally, if "7 maintains that he is a 1" even w72 (because he disagrees with prix> "3 and 701" 27), how can we
be certain that X"9 maintains that he is a w"w where it is 1w?! See ‘Thinking it over’ # 1.
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I NYW N RY, so " partially agree with X" (by nmyn). We can therefore assume (like >"2")
that w72 all agree that he is a w"w.

nooIn asks:
= PPN 1TAN NNITY 9219 T NYW MHWAT 1) NYP VAN

However there is a difficulty; since by "1 23ww »w all agree that the M loses

his money if the 10w is lost (for he is a w"w) -
- N1aYY *9199 Py1an 33 Pawnn 19w NN Y X911 )9 ON

Therefore it should follow that where "2 X%, the m>» should also lose the

money equivalent to the value of the 1own, according to everyone (even x") -
= WAV NMNRN NN NN NIV NYa P2vNN TarRY TYIIN 129Y YA INNAN 12 ONY

So therefore why, according to X''=, does the mv» swear that the }12w» was lost

without negligence; what is accomplished with this 72w -
- Bywa NY 1999 AN PIUNN 1Y MYND XYM

Since the M%» loses the money equivalent to the }1ow», even if there was no
negligence -

- HNIAVTY 1155 1197 1193 1PIYN YYD 1PN I NN Yy BYINN)
And the amount of the loan which exceeds the value of the 12w, the M7 can

collect even if he was negligent in the 172w, since X" disagrees with ®Xw! We
do not need an oath!

mMooIN anticipates a possible rebuttal to his question on *"w19:
=T MY VP NDT NIINY 150‘1\731‘,7:1 Y929V 1190 NN’

And if you will say like >''w9 explained that in a case where the M is not

holding 1T 9 in the Nown, then -
- NYYA 0927 PI9TY RIX 70D KT ©IUN 1IN 399 19099 XY PaWnD 1335 199N

The m%n will not even lose 1own 7315 according to X'', since in this case the

mon is merely holding the 1now» only for 23927 11951, This would seemingly answer
mooIN question.

mooIn rejects this answer:
= ININYTY 15D 15T 22 DY OGN 1PIMIYN 1T7AN MHWTI INT NI PN Vg

12 This is where there is a npYonA.

" If the loan was a hundred 11 and the 712wn is worth forty 17, the M2 can only collect the remaining sixty 1.

'* mooin assumes that all agree that he loses the money 112wnn 7213, See text later (by footnote # 18) in this mooin.

1% See X772 7"7 "W,

16 Therefore the M9 swears in order to collect his loan even T2w»i 7313; not as MO assumed (footnote # 14).

' This which *"w1 maintains that if 11 " he loses everything, but if "W X% he loses nothing (according to X"); this
concept is incorrect, according to NMdVIN.
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This does not appear to be correct, for if X"7 maintains that when the 1own is

T1 M, the MY loses his money, even though X" disagrees with X —
- 99Y Y 11 men o1wnt 901 297 1rnyon KON 17AN XY Th99 Y 19 BX

Therefore perforce we must say the only reason why ny% 1728 in a case of "W

in only because of s'3''7 reason that he is a @''®w because it is a mx» -
= MY RITA PIVND THOY N1 TI09% 13 NIYV NN

So for this very same reason he should also lose 15w:7 7315 where it is 912 R -
= VYN PIVNN DY IMHNY MINN NYYY )9V DD NNY

For by "W X9 the Mm% certainly did a mx» by lending him on a minimal ow.
The question therefore remains, since he loses 1Dw»7 7310 in any case; why should he swear
according to X"

mooIn has an additional question:
- 2909 295 ywn n°n 051900 NI 2951 N

And furthermore; according to the reading of the texts (of the *0717 0790 v°), it

would seem that the ruling is like 59> 29 that a 7728 W is like a w"w -
= (ow) MINOYM TN PI93 NYYII9TI N9 )9 NP

But we have established that the ruling is like 7727 as I explained in NI 3% 9K P2z,

mooin offers a resolution for these last two questions:
- "qvv 297 NNRYVN KDY 99Y IV NNDY D19 5N MHWTAT 9010 W 11

However it is possible to say that »ww<72 he is a @''w according to everyone, but

not on account of 7o 2 -
= PPIYN 1TAN PIVNN TAR WD 1IN 2PUNT INIWYT NIY01N NON

Rather he is a v"v because of s"™>Xm»w reasoning, which is that when one gives a
1own it is considered as if the m> explicitly stipulated, ‘if you lose the 30w, you

lose your money’; X" agrees with this concept, only w72 for then he takes the X215 10wn -
= NIYYA 0937 1999 XONX 199 VP KDY NNITN NYWI HNHT NYY MY RY *D)

However when the 110wn is not worth 17 29, and it was taken RY¥»7 nywa, the

o7 is holding the 1own only for a X252 29737 33757, but not X215 -
- ATIYN 297 NDYN W9 19IND 22UN XY PNIUND 1239 1999N)

'8 mpon (at this point) cannot seem to find any other reason why he is a ", since PXwT % N K"

% See footnote # 8. According to 7121 he is a n"w. The rule of prix> '3 cannot apply for this is a 7R NYw2 PR,

%0 See footnote # 3.

*' If we maintain (as is indicated according to the *0737 2190 °) that all agree that "2 he is a w"w; the reason
could only be because we follow 701 27, for according to 7127 that a 77°aRk W is a 1"w, why is he a w"¥ here?! It
cannot be because of prix> " for his rule is only X177 nywa X7w and we are discussing 78?7 nywa.

*? This would answer both questions; since he is a "W not on account of >"9, therefore it may apply only *wT2, but
not »W X772 (as NvoN will explain shortly), and it would not indicate that the 73977 is 7o 27,

4
TosfosInEnglish.com



Xm21 "7 '0N R,29 "2 702

So therefore, according to X', even concerning JwWn»7T TA2 it is not
considered as if he explicitly stipulated that if own7 7335 My 1728 Nownn 787

It seems as if M90IN justified *"w19; however NMdDIN continues -
- 230 YT 0YpN Yan

Nevertheless this explanation is problematic.

In summation; according to (M01n understanding of) *"wA, by 111 Myw MW all agree that he is a
w"w, because in this case we agree with PXmw that it is considered as if there was this stipulation,
TR 172K NOWAn 72X however if "W X7, then X"1 assumes there is no such stipulation. We do
not establish the w72 mwn (so it would agree with X"9), for then we would not understand the
ruling of 777> 1. We can maintain that the 7397 is 7272, not like 701 2.

mooIn offers his interpretation:
- MW 8973 9r P9 5999100 IXINYTL) MY RYTA N1DYY WY AN

And it appears that the explanation of, 359 %p HR12wT2y " K72 8¥»%%' means

that "1 X" argue even if it is "1 XY; the X723 means to say that ¥"1 X" -
- Tsyg1a NON 22999 3813 NY 1105027 9D 291 DHY 53972 KDY 33999105 ININYTI)

Argue regarding the ruling of »Xyw, but not in the ruling of prx> '3 or nE 29,
for according to their opinions (of pri¥> 7 and 701 27) they (V"7 X"9) could only

argue by "w72, but not by "W X772 -
- 1399 19 RPT GO 2972 XY 00T PNY 92993 9999 NY NNANRN 2957 P

And furthermore, according to the truth ¥"71 X"2 do not argue in prr3° '3 as the

X713 concludes, and also not in 79 21 since we establish the 7097 like 5729, not
like Ao 27 -

* The m> does not consider it as payment, so he does not hold the >» responsible for it. See footnote # 24.

** Both "w72 and "W X972 are in a case of WNXY2A NYW3 110wy, so why is there this difference that if it is " we assume
that the m? is stipulating 1°’nwn 72K 115wnR 72K, but not if it is not *w; what is the difference?! By »w X% we should
also say that he stipulates 1myn 7313 728 71OwWn7 7aR! See footnote # 23. [See X"w7in for these two alternate
explanations: Initially (according to *"w") the X713 assumes that w72 all agree that he loses the loan, then later the
X713 concludes that they argue "w72 according to prX® ) meaning that X"7 maintains even w72 that he is a r"w.
Additionally why does not the X713 establish that they argue w72 whether it is w0 12°%3 (¥"9) or not (X"), w"»v.]

» mooin disagrees with the *0737 0190 w” (see footnote # 3).

%% y"5 maintains that he loses the entire loan even if "W XY.

211 3" follows the view of 7o 27/pnx> " that would only explain why he loses 112wni7 7210 (either because he is 1P
mownn like prix> ', or because he is a w"w like 7o 27), but it would not explain why he loses even 115Wn7 7315 ROW.
[There can be a npY2nn (of ¥ &) by »W & but it will only be 112wn7 7313 (see R"wHnn).]

*% This is another reason why we must say that ¥"1 X" argue ?X1»w73, but not qo 27 pry* 172 It also explains why
initially the &3 first said 3?97 PRMWT2 82, but not *379mp 70 27/pne 172 XY,

** See later on this Ty that the ruling of prx® " is only by WXY>7 NYw2a Xow 1wy and the NpYoRn between ¥" K™ is
by X177 nywa 11own (as the XN™13 states W 2 M2n0).
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- MY X973 1929 YT 13 ININYTA 51999)

Rather v"1 X"1 argue in »Xw whether the 110w is s or whether it is not " -
- 12WNN 1Y N1 GN TN KY 3919 HNMWT 19D 1Y 91N 2297

For R''1 disagrees with Y8waw in all cases, therefore the M5 did not lose his

money even the amount which equals the value of the 2w -
- 9NmYTY 799 11991 115 PO DYV NPNRNT

For, what can be the reason that the m>» should lose his money, since X"

disagrees with >Xmw -
= 199WUNN DY DINN ITPAN PPN 1TAN) INMIWT 199 PN RIYPY *29)

However, ¥''7 agrees with »Xmw so the m%» loses all his money, even the
amount which is greater than the 195w (for this is the ruling of Yxmw) —

mMdoIN responds to an anticipated difficulty:>!
= NPYTIND 99V 99V 1PNNN 1INPT N

And this which our 7w stated that the m%n is a @''w; that is not precise -
- Z19unn Yy D3N MPNN TP RY NIWY IND NI4T

For this expression of v"v is not applicable to the money which exceed the

value of the 112w -
= PPONINA XD NN N2 YIN TI09IDT 95V IV 173 9191V NIN

But rather the 71w» meant to say that this m%» has the same ruling as a w''w,
who loses everything if the 112w was lost or stolen, but he does not lose if it was
lost or stolen due to %0318 —

mooIn offers an alternate explanation why the 7797 is referred to as a w"w:
$99Y 9V DY 999 7991 2INN DI X35 MY PIYN DNUDT MHVYTI 599N PNINMD 23 ON

Or one can also say that our wn is discussing a case of w72, for usually a
1own is worth the value of the entire loan, so therefore the m>» is called a

w''w, since he will lose the entire loan if he loses the Town.

SUMMARY

0 o 7 is only AR NYW32 X9w and ¥ X" are arguing 7XY27 nYw3, and the 7297 is not like Ao 21,

3! According to Moo if the mn loses the 119wn he loses the entire debt (according to ¥") even if the value of the
loan is greater that the value of the 11own. However in the m1wn it states that the m>n is a w"w for the 1own, which
indicates that he is only liable for the value of the 110wn, but he can collect the amount of his loan which exceeds the
value of the 11own; so the 7wn is not like ¥"1 (either) who maintains that he loses the entire loan! See ‘Thinking it
over’ # 2.

2 On account of being a w"w on the 112w, the M is only liable for the value of the 19wn, but he does not lose the
value of his loan above the value of the 11own.
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According to >"w1 (when the X723 states “3791p PRIAWTIY N7 NPW MW K272 XY) the
nP1onn between " X" is only if W X9, but by "W all agree that he is a w"w;
however according to m»on the nPonn is in both cases, ¥"9 maintains he loses all
the money, while X"7 maintains he loses none.

THINKING IT OVER

1. nmooIn justifies *"w1 that we cannot establish the 71wn in a case of " w73, for then
it would turn out that *"1 argues on both ¥" &".>> However one can argue that we
should establish the 71wn by "W, and indeed the p"n of the 7Iwn maintains that
w73, both ¥"71 X"7 agree that he is a w"w, however 777 '3 argues with the 2"n and
maintains that according to X"7 he is never a ¥"¥ even "W73, and °"1 agrees with
X" (by myn)!™

2. moon asks regarding the expression "% in our 71wn?>> How will "1 deal with
this question?

3 See footnote # 11.
* See X"wImn.
35 See footnote # 31.
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